117 euclid 8 (TMMaz-
FuSVSNBT7mkCd5VxX40Zcht6H80V6S)

October 27, 2020

Let ml_subset_1 : t\=1=>0 be given. Let kl_-numbers : ¢ be given. Let
m2_finseq-2 : t=1=-1=>0 be given. Let kl_euclid : 1=t be given. Let np__3 : ¢
be given. Let kl_euclid 8 : t=>1t=1=>1 be given. Let k23_rvsum_1 : 1=1=>1 be
given. Let k9 _binop_2 : t=>1=- be given. Let k5_square_1 : 1= be given. Let
vl_relat_1 : t=>0 be given. Let vl_funct_1 : t=>0 be given. Let vl_finseq_1 :
t=0 be given. Let k11_finseq-1 : t=1=-1=>1 be given. Let k3_finseq_1 : 1=t
be given. Let k1_funct_1: 1=1=- be given. Let np__1 : ¢ be given. Let np_2: ¢
be given. Let v2_zxreal 0 : =0 be given. Let m2_subset_1 : 1=>t=>1=>0 be
given. Let k5_numbers : ¢ be given. Let m2_finseq_1 : 1=1=0 be given.
Let ml_finseq_1 : t=>t=0 be given. Let k3_square_1 : (= be given. Let
k4d_ordinall : ¢ be given. Let v3_valued 0 : t=-0 be given. Let kl_seq-1 :
t=-t= be given. Let vl_xreal 0 : =0 be given. Let k11 _binop_2 : t.=>1t=- be
given. Let k3_xemplx 0 : 1=>1=>1 be given. Let v6_membered : 1=-0 be given.
Let v3_membered : 1=-0 be given. Let ml_finseq 2 : t==1=-0 be given. Let
v7_ordinall : 1=>0 be given. Let vl_xcmplxz 0 : 1=0 be given. Let v5_relat_1 :
t=-1=>0 be given. Assume the following.

VX0.VX1VX2VX3.((vlrelat-1 X3)A
((v1_funct.l X3)A(vl_finseq-1l X3)))=((X3 = kll_finseq-1 X0 X1
X2)e((k3_finseq.1 X3 =np_3)A((k1_funct. 1 X3 np__1 = XO)A((kl_funct_1
X3 np_ 2= XAkl funct.1 X3 np_3 = X2)))))
1)
Assume the following.

((v2_zzreal 0 np__3)A(m2_subset_1 np__3 kl_numbers k5_numbers))A
((m1_subset_1 np__3 k5_numbers)\(ml_subset_1 np__3 k1_numbers))

Assume the following.
VX0.VX1.(m2_finseq_1 X1 X0)=(ml_finseq.1 X1 X0) (3)
Assume the following.

VX0.(ml_subset 1 X0 k1l _numbers)=(k5_square_1 X0 = k3_square_1 (@)
X0)



Assume the following.
kb_numbers = k4_ordinall (5)

Assume the following.

VX0.VX1.((vlrelat-l X0O)A((v1_funct-1 X0)A(v3-valued-0 (6)
X0)))=(kl_seq-1 X0 X1 =kl_funct-1 X0 X1)

Assume the following.

VX0.VX1VX2.((vlzreal 0 X0)A((vl-zreal 0
XA (vlzreal 0 X2)))=(kl_euclid-8 X0 X1 X2 = k1l_finseq-1 X0 X1

X2)
(7)
Assume the following.
VX0.¥YX1.((vlzreal 0 X0)A(vl_zreal 0 X1))=(k11_binop_2 (8)
X0 X1 =Ek3_zemplz 0 X0 X1)

Assume the following.

VX0.(m2_finseq-2 X0 kl_numbers (kl_euclid np-_3))=(VX1.
(m2_finseq2 X1 k1l numbers (kl_euclid np--3))=(k23_rvsum-1 X0
X1 = k9-binop-2 (k9_binop-2 (k11 binop-2 (kl-seq-1 X0 np__1) (kl_seq-1
X1 np_1)) (k11 binop2 (kl_seq-1 X0 np_2) (kl_seq-1 X1 np__2)))
(k11 binop-2 (kl_seq-1 X0 np_3) (kl_seq-1 X1 np_3))))

(9)

Assume the following.
v6_membered k4d_ordinall (10)

Assume the following.
v3_membered k1_numbers (11)

Assume the following.

VX0VX1.(ml_finseq 2 X1 X0)=(VX2.(m2_finseq_2

X2 X0 X1)=(m2_finseq_-1 X2 X0)) (12)

Assume the following.
VX0.¥X1.(ml_finseq-1 X1 X0)=((vl-relat_-1 X1)A( (13)

(vl_funct_1 X1)A(vl_finseq-1 X1)))
Assume the following.

VX0.(v7-ordinall X0)=(ml_finseq-2 (kl_euclid X0) kl_numbers) (14)



Assume the following.
VX0.(vl_xemple 0 X0)=(k3_square_1 X0 = k3_zcmplz_0 X0 XO0)
Assume the following.
VX0.VX1.(ml_finseq-1 X1 X0)=(v5_relat-1 X1 X0)
Assume the following.

VXO0.((vl-relat-l X0)A(vbrelat-l X0 kl-numbers))=-((vl_relat_1
X0)A(v3_valued0 X0))

Assume the following.
VX0.(ml_subset_1 X0 kl_numbers)=-(vl_remplz_0 X0)

Assume the following.

VX0.(v6-membered X0)=(VX1.(ml_subset.1 X1 X0)=
(v7_ordinall X1))

Assume the following.

VX0.(v3-membered X0)=(VX1.(ml_subset-1 X1 X0)=
(vl_zreal 0 X1))

Theorem 1

VX0.(ml_subset_1 X0 kl_numbers)=(VX1.(ml_subset_1
X1 kl_numbers)=(VX2.(ml_subset_1 X2 k1_numbers)=(VX3.
(m2_finseq 2 X3 kl_numbers (k1_euclid np_3))=((X3 = kl_euclid_8

(15)

(16)

(20)

X0 X1 X2)=(k23_rvsum_1 X3 X3 = k9_binop_2 (k9_binop_2 (k5_square_1

X0) (kb-_square-1 X1)) (kb_square_1 X2))))))



